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a) f(z) = tan (In (1)) b) f(z) = In (ese (2))
c) f(z) = csc(e) d) f(z) = tan (cot (z))
e) flz) = e f) f(x) = cot (cot (x))
g) f(z) = arcsec® (z) h) f(z) = In (arccos (x))
i) f(z) = arcsec (arctan (z)) j) f(z) =In(In(z))
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m) f(x) = In (arcsin (x))

o) f(z) = cos (z°)

2. SRR SHL

a) f(x) = tan (sec (sin (z)))

¢) f(z) = In(sec(In(z)))

1) f(x) = arcsin (arcsec (7))

n) f(x) = arcsin (arctan (x))

p) f(x) = arctan (cos (z))

r) f(xz) = arccot (e)

b) f() = ese (x)

) f(z) = e
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e) f(z) = arcsin? (¢”) f) f(z) = arcsec? (z)

g) f(x) = arctan (In (arcsin (z))) h) f(z) = 22

i) f(z) = arcesc (cos (sin ())) j) f(@) = cot (=)

k) f(z) = arccot (tan® (z)) 1) f(x) = arccot (arcsec (cot (z)))

3. SRR A RS2
a) f(z) =1/vVz+n(x) b) f(x) = \/tan (x) 4 arctan ()

c¢) f(x) = cot (cos (z) + arccot (z)) d) f(z) = tan (2tan (z))
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e) f(x) = \/cot (x) + arccot (z) f) f(x) =1n(e® + sin(z))
g) f(x) = arccos (In (z) cot (z)) h) f(x) = arcsin (¢” In (7))
i) f(z) = arctan (v/z sin (z)) i) f(z) = eVrarccos(@)

cos (z) >

arccos (z)

k) f(z) =In < 1) f(z) = tan (e " tan (z))

~ [In(x) B . In(z)
m) f(z) = Sin (2) n) f(x) = arcsin (cot (m))
1 RIS A
a) f(x) = esin(@)tarccot(cot (2)) b) f(x) = arcsin (e” + In (arctan (z)))
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¢) f(x) = tan (cos (cot (x)) + tan (z)) d) f(x) = cos (tan (In (x)) 4 cot (x))

e) f(x) = arcsin (In () + arccot (arccos (x))) f) f(z) = arctan (e™ @) 4 cot (z))

g) f(x) = sin (arcsin (z) arctan (e”)) h) f(z) =In (111 (x)+/arccot (m))

i) f(x)=1In (\/1 — x? arcsin (:v)) j) f(x) = cot (tan (z) tan (tan (z)))
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BR
) flay = o) 1 b) F'(a) = — cot (@)
c) f'(z) = —€” cot (€%) csc (e) d) f'(z) = (tan’ (cot (z)) + 1) (— cot® (z) — 1)
e) f'(x) = (—cot? (z) — 1) e @ f) f'(z) = (= cot® (z) — 1) (= cot® (cot (z)) — 1)

2 arcsec (z) 1

g) [(z) = xz\/g b) f(z) V1 — x2 arccos (z)

) f(a) = — DS =
1-— m (CU2 + 1) arctan2 (ZE’) i (LU)
) () = 22 ) fi(w) = :
22y/1 — %5/1 — arcsec? (z)
) [0 = —— ) f'(2) = 1
V1 — z? arcsin () /1 — arctan? (z) (22 + 1)

"(2) = —322sin (23 ") = — sin (z)
o) f'(z)=-3 (=*) p) fiz) = cos? (x) + 1

/ . 1 ! . ex
Q)f(f)——P 1“)f($)——62$—Jrl

a) f'(z) = (tan® (sec (sin (z))) + 1) cos (z) tan (sin () sec (sin (z))
b) f'(z) = — cot (z) csc ()

) ey = (@)

d) f'(z) = (= cot? (e7) — 1) e (")

e) f'(x) = i
f) fla) = 4 arcsec® ()

h) f(x) = 22
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sin (sin (z)) cos (x)

A/ 1-— Wlin(x)) COS2 (Sin ($))

) fl(z) == (= cot® (e m) —1)e™ @) cot (2) esc ()

i) fi(x) =

(3tan? (z) + 3) tan? ()

k) [(e) = -

tan® (z) + 1
1) f,(l') _ —C0t2 (ilj') —1
1= cot21 (z) (arcse02 (COt (l‘)) + 1) cot? (:L‘)
1 1
2) i) = 2 WE
Va +1In(x)
tan? (z) 1 1
b) f) = — 2 EETD

= V/tan (x) + arctan ()

) f@) = (=sin(a) - 5%

T o241

> (— cot? (cos (z) + arccot (z)) — 1)

o / _ 2 2 2(z2+41)
A \/cot (x) + arccot ()
T
—cot? () — 1) In (z) + <)
0 Pl = (@) = D)+
\/— In (x)° cot? (x) + 1
b () e*In(z) + <
\/—e% In(z)"+1
xcos (x) + Si; (=)
) )= S

rsin? (x) + 1

. ") = [ — \/5 arccos (m) eﬁarccos (x)
b s = ()

sin (x) cos ()
" arccos (z) + V/1—22 arccos? (x)

cos ()

) arccos (z)

k) f'(x) = (

) f(z)=((tan® (z) + 1) e — e “ tan (z)) (tan® (e~* tan (z)) + 1)
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In (x) <_1n(w)cos(z) + 1 >sin (l‘)

, _ sin (z) 25sin? (z) 2 sin (x)
m) f'(x) = In (z)
(C0t2 (x)-i—l) In (z) 1
cot? (z x cot (z
n) f(z) = el
T cot? (z) +1

—cot? (x) — 1
cot? (z) +1

) )= (-

1 cos ({L‘)) esin (z)+arccot (cot (z))

. 1
_ ¢ T @iarchn@
\/1 — (e* + In (arctan (z)))”

¢) f'(z) = (tan® (cos (cot (z)) + tan (z)) + 1) (= (= cot® (x) — 1) sin (cot (z)) + tan* (z) + 1)
tan? (In (x)) + 1)

b) f'(x)

0 fe) = (~eot (@) - 14
1 1
V1—x2(arccos? (z)+1) + z

e) fl(z) = 2
\/1 — (In (z) + arccot (arccos (z)))

sin (tan (In (z)) + cot (z))

(tan? (2) + 1) € ) — cot? () — 1

f) f(z) = (etan @) + cot (:L‘))2 +1

e”arcsin (z)  arctan (e®)

g) fl(z) = ( 2 1 V-2

) cos (arcsin (z) arctan (e”))

_ In (z) arccot ()
2(x2+1)\/arccot (z) z

In (z)/arccot (x)

h) f'(z) =

__ zarcsin () +1

. / — Via?
i) fl(z)= V1 — 22 arcsin ()

i) f'(z) = ((tan® (z) 4+ 1) (tan® (tan (z)) 4 1) tan (z) + (tan’ (z) + 1) tan (tan (z))) (— cot® (tan (z) tan
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